e
=t l]]
Ve 3L

ARHEEE (GPT) AMMERFIZHASR
BINEE 50 /24 ¥

¥ OB EXNERISLE 2-3 ME BB ARSI E

MEEX:

GPT (EC2.6.1.2) J"ZAHETEW. W DM FRAN T, LSRR AN R e A N, R A
FRACH T A HEAER . BEAh, WLV AL GPT WM &, A IASE, GPT RSB Mk, fi&
GPT VTR E M m. KUk, GPT it 7 AR A SUHER AT Dh R4 3 SR BUR IR 48 47«

ME RIE:

GPT ALY &R AN o- Bl I R A AR e R O, AR RN AR AN A R s NN 2,4- IR EIL AU
b RS, T H A B AR N, RN R A R RRE R R R AR, TR 505nm i3
BOROGAE TSRl 70

R PR A R:
LT KA BBl AR 1 mL BOEGM, TR DKRZREK.

RIEYLERRFOECH -

PEHU: 30mLx1 i, 4°CIRAE.
WA= WA 5 mLx1 i, 4°CORAE:
A WA S mLx1 i, 4°CIRATE:
WA= Witk 50 mLx1 3, 4°CIRAE;

HRAERES:
1. 45 4HPREALSURE S I 4%

B TR, e B B B O, B0 AR R R R (100 ¢ 2
B RL (mL) 9 500~1000: 1 LB G2l 500 7740 B4 IN A TmL $2IGH0D, 8 75 Ik A 4 4 B B4t
Ml (UK#, ThE 20% 8% 200W, #E7 3s, [AIBG 10s, H 30 %); 8000g 4°C & L» 10min, B L3, BHik L
FRl

M. HBHLFE (g) « RIURAERmMLYN 12 5~10 HE] GERENZ 0.1g H4Y, i ImL 32
B, #HATUKIH A . 8000g 4°CHE L 10min, B i, Bk LA,

2, M3 CRO FE&: BRI,

MEHRIER:
1. 266 30min LA E, T RK S 505nm, ZEBKIHE.
2. {E EP AN T FIR5

A FR (ul) M xR

FrAEA 20
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b 10min [RFIFEA 20
A — 100
MK 100
RBEJE, 37°C ORELBhY) 325°C B e &8 20min
| i | 100 100 |
BEIE, 37°C URFLEhYD) Bk 25°C e #ERi/KHE 20min
| = | 1000 | 1000 |
B2, FRCE 10min, 1E 505nm PWAAL, WEEBOCE A. A A=A WEE-A XMIE . 8M00EE i
— XA

'H-g:

1. WRAERAETMERIEAZ,  y=0.4228x+0.0003  (x NARAESIKEE, umol/mL; y N A A).

2. MM %) GPT & /i 4

BRI E S B mL MG G BG4 Inmol PIERER & SCA— MBS 715047

GPT (nmol/min/mL) = (AA-0.0003) +0.4228+Tx103=118.26x (AA-0.0003)

3. M. ANEEAIZHZUHR GPT 35 ik 5

(1) $ZREARR AR5

FRALIE S B mg AU (R AL 2E 1 nmol NERER & SN — AR /1 AL

GPT (nmol/min/mg prot) =[ (AA-0.0003) +0.4228xV1]+(V1xCpr)=Tx103=118.26x (AA-0.0003) +Cpr
TS AN E, A ) BCA & A RS B e KA.

(2)  FEREAREFE .

BANTIE S B g VR B AL Inmol TRRRER & XN — NS 715407

GPT (nmol/min/g #£5) =[ (AA-0.0003) +0.4228xV1]+(WxVI1+V2)=Tx103=118.26x (AA-0.0003) ~W
(3) %4 1A SN L 2 FE B

BRI E S B 1 3B B A oy B AL A Inmol ARG 2 SUN— AN G I B

GPT (nmol/min/10% cell) =[ (AA-0.0003) +0.4228xV1]+(500xV1+V2)=Tx103=0.236x (AA-0.0003)
VI IIANRBARRPEEAAER, 0.02mL; V2: JIANFREGRAFR, 1 mL; T: BEFE], 20min: Cpr: #H&A
JRHPE, mg/mL; W: FEARFIE, g5 500: ANAUEkdNiF %0, 500 75; 10%: lumol/mL=103 nmol/mL.
1. FrfEdhLL e N: 0.01 umol/mL -2 umol/mL.

2. AAZRMEVERIN: 0.01-2.



